PLYMOUTH YARN® F681

DESIGN : STUDIO
FREE WITH YARN PURCHASE

GINA
Chevron Hat

To Fit Average Adult Head,
20 % circumference

Materials:

Gina: 2—50G balls, color 8

Gauge: 19 sts, 20 rows = 4” in 16 St Rib US Size

10 (6mm) needle after blocking.

Needles/Notions: US Size 10 (6mm)- 16” circular and
DPNs, 1 st marker.

16 St Rib (Multiple of 16 sts)

Rnd 1: K all sts.

Rnd 2: *Yo, k6, sl 1, k2tog, psso, k6, yo, k1; rep
from * across.

Rep these 2 rnds for pattern st.

Begin

With circular, Long tail CO 96 sts. Join in the rnd
and pm. Work in 1x1 rib (k1 st, p 1 st) for 2”.
Work 16 st Rib until hat measures 8 from CO
edge, end having worked pattern st Rnd 2.
Decrease for Crown

(Switch to DPNs when there are too few number
of sts to fit comfortably.)

Dec Rnd 1: *K®, sl1-k2tog-psso, K7; rep from *.
84 sts on needle.

Dec Rnd 2: *Yo, k5, sl1-k2tog-psso, k5, yo, k1;
rep from *.

Dec Rnd 3: *K5, sl1-k2tog-psso, k6; rep from *.

72 sts on needle.

Dec Rnd 4: *Yo, k4, sl1-k2tog-psso, k4, yo, k1; rep from *.

Dec Rnd 5: *K4, sl1-k2tog-psso, k5; rep from *.

60 sts on needle.

Dec Rnd 6: *Yo, k3, sl1-k2tog-psso, k3, yo, k1; rep from * across.
Dec Rnd 7: *k3, sl1-k2tog-psso, k4; rep from *,

48 sts on needle.

Dec Rnd 8: *Yo, k2, s11-k2tog-psso, k2, yo, k1; rep from *.

Dec Rnd 9: *K2, sl1-k2tog-psso, k3; rep from *.

36 sts on needle.

Dec Rnd 10: *Yo, k1, sl1-k2tog-psso, k1, yo, k1; rep from *,

Dec Rnd 11: *K1, sl1-k2tog-psso, k2; rep from *.

24 sts on needle.

Dec Rnd 12: *Yo, sl1-k2tog-psso, yo, k1; rep from *.

Dec Rnd 13: *Sl1-k2tog-psso, k1; rep from *.

12 sts on needle. Cut yarn and draw through rem sts. Fasten off and weave in all ends. Block.
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ABBREVIATIONS: beg= begin(ning), CO= cast on, cont= continue, dec= decrease, DPNs= double pointed needles, k= knit, k2tog=
knit two sts together, p= purl, pm= place marker, psso= pass slipped stitch over, rem= remain(ing), rep= repeat, RS= right side, SSK
= slip 1 st as if to knit, slip a second st as if to knit, knit them together through the back loop, sl= slip, st(s) = stitch(es), st st =
stockinette st, tog = together, Yo= yarn over



